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Before attempting the question paper, kindly check your Question Booklet(QB) and O.M.R. Answer Sheet and ensure that:
- Serial number of Question Booklet(QB) and OMR Answer Sheet is same. .
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of Question
Booklet(QB) and OMR Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start of examination,
candidate will be liable for the same.

2. SIHeT S-UE & I Ry g wf Py w1
" Read all instructions on the reverse of OMR Answer Sheet.
3. IR SER--USI U A A ard @IS I 1 Y90 B 1 B, SIUHITY ST 3§ STun O HeY ofiv sy wemrly wdl da @ W)
On OMR Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in OMR Answer Sheef
4, W ue % W ofe ¥ 1 Al et we % forg we & srfes s oiftea RRd sy ¥ < @ e e am s
All questions carry equal marks. If more than one response is marked for a question, it would be treated as wrong answer.
B. was we ¥ dte Rrevw/ et ¥ | Tea TR Rresea e A, B, C i D SRy SOt & defhm ¥ ok sfeat Reeuyien B’ ‘orrafia uow § @«
|
Each question has five optlons/mrcles First four options/circles A, B, C and D are related to appropriate answer and fifth optlon/cn*
‘E’ is related to ‘Question not attempted’.
6. wd TaCeniy % fg eredl @y oft qm. . See-uses aT wefue s e % ues ard Riewr A, B, C @1 D ¥ 9 Fuw o R/ e wy e afe
| TR U § A BRI A et TRt wew et e El 3 wrean § ) wiad fumeu/ MW ‘B @Y e wAn 8]
To indicate the correct answer, the candidate has to fill in only one option/circle A, B, C or D with blue ball point pen for respective
question number on the OMR Answer Sheet. If the candidate does not want to answer any question then the fifth optlon/cucle ‘B
should be darkened.
7. ol uia e ¥ § i A Reed/ e we st Rear T | wen w1 1/39m sies wre R s
1/3 part of the marks will be deducted for the questions, if none of the option/circle options are darkened.
8, Y% TG I B T 3 B 1/3 R BrET S v I anwd sigm I oy Red uew % we ¥ et sae d
1/3 part of the mark(s) of each question will be deducted for each Wrong answer. (A wrong answer means an incorrect answer or more
than one answers for any question).
9. 10&1%31?{@(37%9&%&%%&&@@@%@meﬁmmﬂé’rmweﬁwvﬂm%m Frary @it % frar sem
If a candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for the exam.
10. el @t qelish e % g B9 A %9 U Trmpea/iien w1 ¥ a1 €t 9w ghfvaa & & fig 10 P sifafie R smd
Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.
1. Tfe uew & Foy o SISl wpRT & HRvT At aenees Ul @Y ey oy wene o srerse/erdy ¥, | aiish demvor @ sift wm s
If there is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions, then the
English Version will be treated as final.
12, 7l s & HaEa ey amy o el o gtaeite fiore o audn wea affa ¥ gl Redt eradl % o Ol B wiefe gl g
i sa feg T HICATE W ST -
Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action will be taken against him/her as per rules.
EciceE aﬁaﬂémﬁmmﬁg@mm%ma@%aﬁ%m T ST § AT SHE U i st wey urg sl ¥ | 9% Raens
e Ry # .1, aﬁaﬁm@ﬁﬁa‘gmaﬁaﬁaﬁnﬁmmﬁw 2022 St gt srfufrem 2023, (w8 § ergfra west & Qwuam
% STEUTY) % ed YeraHT T 3 R1g Srvard evn Rved 10 @ % srrse sroam aar T 10 %3S o %1 ST & 15 4 2 wiferer oy sl vt
{ e vy ¥ Rrafia o Rear s aswar ¥
Warning : If a candidate is found copying or using unfair means or if any unauthorlzed material is found in his/her possession, F.ILR will
be lodged against him/her in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for
Preventions of Unfair Means in Recruitment) Act. 2022 and Amendment Act 2023. The act has provisions of imprisonment of 10 years to
life and fine up to ¥ 10 crore. Board may also debar him/her permanently from all future examinations conducted by the Board.
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If you see a dairy cow which has calved 36
hours ago and is characterized by (a) rise in

temperature and excitement, (b) unsteady

movement and stiffness of gait, (c) sitting
with its head turned backward and looking
at its abdomen. Which among the following
measures will you adopt?

1. Addition of calcium in the ration

2. Give calcium borogluconate injection

3. Inflate each quarter of udder with air,
massaging with tied teats

4. Cows should be partially milked during

the 15t three days after calving

Choose the most appropriate answer from
the options given below :

(A) Only 1

(B) Only 1 and 3

(C) Only 2, 3 and 4

(D) Only 1, 2 and 4

(E) Question not attempted

afe amq fedr T T frawr awg 36 T UEA
ﬁagw%eﬁ'(wnmaﬂ(a)mmaﬁ'{ﬁw
=61 22 ¥, (b) HA T atferk = ¥, () &To

Rre A & are Hre T R A ol A g A |

T o oo P § | B W SU™ STOAT ?

1. e ¥ Hesrad &1 9

2. e QRN B S &

3. % o9 % iU WO B EE | FEE &
9 g ggH & qY AAT B

4.  wmel A F TR AW R, M@ sfew
e B/

A R Ty Rl ¥ ¥ g9 IR I A

qgq B

(A) FHaal

(B) ¥Faw 13T 3
(C) Fam2,3 &4
(D) Faw 1, 2 3T 4
(B) oraia wed
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Arrange the types of water erosion based on

their impact, in ascending order.
1. Rill erosion

2. Sheet erosion

3.  Gully erésion ‘

Choose the correct answer from the options

given below :

A 1,2,3

®) 21,3

© 3, 1,2
@) 3,21
(E) Question not attempted

TAA—TTCET 6 THI BT 5% THE B SUST H
% AR FERYT L

1. @ suEs

2. 9Td SAUEA

3. ST ST

A g e Foet 3 & Y e e AR+
A). 1,2,3

B) 2,1,3

© 3,1,2

o 3,2, 1

(B)

(B

(D)

The product formed by the fermentation of
any green plant material in the absence of
air is known as

(A) Hay
®) sil
(C) Straw
(D) Lin
(B) Qu

n not attempted

T o srpaRaf § Pl o =R B % Rave

TR O§Y SE B wEA R
@) g |

B)
©
D)

A
©

E)
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5 Irrigation scheduling deseribes -
1. How much water is to be given.

2. When i water needed to be given.

3. Sourc water

Choose the mx st-appropriate answer from

(A) 1 only

B) 2 only&

=

(C) 1 and 2.only

D)

(E) Questlon not attempted

Riaré dromr B ¥ § feger e 3@ ¥7
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>In which of the following species is the fat

content in milk high?

(A) Buffalo

(B) Cow

(C)  Goat

(D) Camel ’

(E) Question not attempted

ﬁﬁfﬁ@fﬁﬁ@ﬁmﬁr%@ﬁmww
BT B 7

(A) #a
B) =
(©) =l

>

(E) ergafa we

Which disease can be prevented by
vaccination?

(A) Milk fever

(B) Black quarters‘

(C) Mastitis

(D) Bloat

(E) Question not attempted

ﬁaimwma?ﬁ@fﬂwa%ﬂwwmaﬁw
Hehal &7

(A) gu =

(B) =% FRY
© it
(D) = (@)

(BE) orgaRa ueA
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3. Affected birds

Which in NOT true regarding Fowl Cholera?
1. Tt affects all classes of Féwl
2. It is a contagious disease

show: gasping,
coughing, snﬁezmg and dlﬁiculty in
breathing = Fi¥

4. It is caused by v1rus

Choose the most appropriate answer from

the options given below :
(A) 1 only

(B) 2 only |

(C) 3 only

D) 4 only

(E) Question not attempted

‘ ﬁw%@aﬁ%ﬁm%mw%m%mﬁ

& i w8 ¥

1. g%« Fage & o1 &l YA S &1

2. u“séiiﬁmﬁw%n

3. e wd B ¥, w w ¥, o ¥
ot o Wi A A e B B

4. =g fawT FTO g ) ‘

H Ry Ty R ¥ ¥ wed SugE SO @

TaF BT

(A) Faa 1

(B) &aw 2

(C) w%aw 3

(D) Faw 4

(B) rgafa we She

- 10

Who is the Originator of Bishnoi
Sampradaay?

(A) Jambheshwar Ji

(B) Haridas

(C) Surat Gopal

(D) Mahav Manohar Ji

(E) Questioninot attempted
ﬁwﬁlﬁaaﬁ%aﬁﬂﬁsﬁéwm%qaﬁas%?
(A) m&aawﬁ

(B) wlmm

©) T

(D) w&a TN

(BE) orana usa

Which of the following crop belongs to
Citrus species group‘?

1. . Kinnow

2.  Sweet orange

3. Jack fruit

4.  Mandarin

Choose the most appropriate answer from
the options given below:

(A) 1 only

(B) 1,2 and 4 only

(C) 3 omly

D) 1,2,3and 4

(E) Question not attempted

fre & @ o O wow Ry sl @ d@etm
g7

1. e

2. ¥ Ead

3.  &Ed

4. Fsfm (B waw)

R fiw o Reedl F O gE9 SUgF IAT @6
T BT

. (A) %aw 1

(B) ¥aw 1, 2 alx 4
(C) aw 3

D) 1, 2,3 4
(BE) orgaia s
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Who built five Patwa Haveli in Jaislmer?

N
®)
©
D)

Rana Uday Singh
Banne Singh

Rawal Veer Singh Dev
Guman Chand

Qﬁestion not attempted

e SreeRT § T Tear B erﬂ"cné?

A)
B)
©
@)
)

o7 SeARiE
T iz
Tga 4R fiE 3=
TN T

S usH

Match List T with List II

- List T (Fruit

List Il (Commercial

crop) propagation method)
a. Mango I. Air layering &

. budding
b. Grapes I. Side graﬁing
c. .Papaya 1. Seeds ’
d. Guava IV. Hardwood cutting
T 1% sy gy 1 &1 fram st
o 1 (el A ) g I (anferRrs dadm )
a. ™ I =g 9@aA qodr e
b. @Y I urd &wew o
c. Tdrar I S
d. swEs V. 3% &% &

Choose the correct answer from the options
given below :

ﬁﬁﬁqwﬁmﬁéﬂﬁwmmm

A)
®)
©
D)

(B

a-I, b-Il, c-IIi, d-1V
a-1Il, b-Il, ¢-I, d-IV
a-II, b-I, c-III, d-IV
a-II, b-1V, c-II, d-I
Question not attempted / STHTNG 9T
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In which of the following fields, is the
‘Sunder Kanti Joshi’ Award given in

Rajasthan?
(A) Literatare
(B) Wom:
(C) Social

(D) Kabagd!
(E) Questﬁ%n not attempted

ey ¥ fFE & § gRY s sl g
frar sTraT ¥ 7

(A) e

B) e Rz

© wﬁﬁ»m

(D) =gt

(B) omgare-ued

T 1 & wre g2 11 &1 frem s
B C B o

a. TogT L 9=
b. e 1. fows
c. T= T dsTEda
d. T IV.  w@esr

%mmmﬁﬁaﬁwmwaﬁﬁq:
(A) alL b»IV c-1, d-IIT
(B) aIL b-IIL IV, &I
©) al, L oI, d-IV
(D) alV,
(E)

, c-H, d-111

-t

15 freiofea & @ o’ B! YT H O qe

16

(A w1
- (B) HEw 2

@l T BT
1.

LR W N

41 feg Ty Rt % T O T W
T BT ¢

(C) e 3 o4
(D) %aw 4 a?rCS
(B) aﬁﬂﬁa HQ‘:f

The onion varieties grown in plains are
categorized as

(A) Short day
(B) Long day Q’Pe
©) Intermediale type
o) _

17
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Rennet is used for the preparation of which
dairy product?

(A)y Curd

.(B) Ghee

(C) Cheese

(D) Cream )

(E) Question no;c'attempted
%ﬂﬁ%ﬁﬁéﬁﬁ@f%ﬂm?ﬁaﬂﬁ%m
W &1 IYANT T S 37

(a) =&

B) =

(C) T (dr)

(D) @M |

(E) @@ 9ed

Identify the cattle breed on the basis of the
breed characteristics given below.

- Protruding broad and long forehead
- Pendulous frontward turned ears

- Colour is white with dark red or
chocolate-brown patch distributed all
over the body.

(A) Gir

(B) Tharparkar

(C) Rathi

(D) Malvi

(E) Question not attempted

A R T e % wal F emur wT, qadh @
T qedAlgl

~  w et T gon dreT oiR @R AEaw

~ o @ AT §S gY P am

~ o 1 o W e orli) O T e

el ) T % g femia ¥
A) fr
(B) gt
(C) &
(D) =l
(B) oraRa e
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Match List T with List II

List I List 1I

a. Alcohol Test 1. Impurities and dirt

in milk |

b. COB Test 1L Teéting aduiteration
of cow milk with’

Buffalo milk

"¢. Sediment Test III. Heat stability of milk

d. Hansa Test  IV. Determination of
| | | shelf life of milk
T [ % @ g 1 o1 e #ifsg
w1 W@
a. wEEm ¥ L gu ¥ sy of fell
b, Set & X I wE ¥ 3T B Premae
B ¥F % g TR Sd
. ’ .
o A Te ML gy B e Rewar
d. 3@ IV. g & fram oy

fretfa w

Choose the correct answer from the options

given below :

9 R Tw Rrepedt ¥ ¥ 98 SR @1 T BT
(A) -l b-IL c-II, d-IV |

B) a-IV, b-IL, c-IIL, d-I

(©) a-l, b-l, c-IV, d-HI

(D) a-III, b-1V, c-1, d-II ’

(E) Question not attempted / SFART 997
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20 Mechanical analysis of soil texture is 22 frefela & 9 ‘ot 13 o1 watET @ ¥ - - 24 Match List I with List II | | 25 Which one of the following pairs does NOT
based on : \ : match correctly?
| ist I (Ani Li d -
(A) Stock’ List I ( “‘mal»s) ist T (Breed) (A) Sambhar Lake — Jaipur
(B) Beer o Goat L Pugal (B) Rajsamand lake~— Udaipur
(C) Ohm’s law o : © Bikaner
= -b. Sheep II. Gomath
(D) Fourier’s law ' D) Jodhpur
Question not attempted c. Cow Il Sirohi (E) Question not aﬁempted
e Frefirfae & & B a1 gﬁri%ﬁr & % ?
N ¥ d. Camel IV. Malvi gw
A)
B)
o ©
23 Match List I with List II D)
List I (Fertilizer)  List II (Percentage ' _ a gHEY L g
' of Nitrogen) ' E)
a. Urea I. 0% N b. 9 L e
b. Sodium Nitrat 46% N ‘ . . .
21 ' o : : : 26 Which of the following:is the most-important
c. 0-16-12 16% N Mg 511 m ' . .
. . ¢ : constituent for jelly
d. Diammonium 18% N : ~
Phosphate . d 3= IV, =y (A) Sugar
gt [ % @ g 11 &1 R Sifwg ' | _ (B) Acid
T 1 (od) = g I (e = Choose the correct answer from the options (C) Pectin
% =TT : given below '
a. gfen 1 0%N : : (D) Bio-regulators
b. wifEaw Tgee II. 46% N . A g et & O TE SO B GAS B (E) Question not pted
c. 0-16-12 . 16% N 1 : ‘
- , . I W & g P H @ 99 wEeye aTw
d. swemifrm wEse. IV. 18% N (A) a1V, b-I, e, d-I e 1. " |
Choose the correct answer from the options ; |res
given below : = s, : B) alll, b- It c-IV, d-1I ' (A) T
A9 frw g Rerebedt ® Y& T @1 TG BN B e
(A) (€) Il b-llcI, d-IV B)
B o (C) e
D -1, b-1,¢-1I, d-1V .
EI(;i D) a > | D) dg-frizm
(E) Question not g&émptéd / SR 9e - (B) Questionnot attempted / STAT 994 (B) orpar@ g

/\ 77AGSP-2 - | 9
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2.

A Ry e R ¥ ¥ g SugE SR @

Cows provide milk. Which is the only source
in vegetarian diet.

of animal

1‘. vitamins -
2.. protein

3.  minerals -

4.  carbohydrates

Choose the most appropriate answer from
the options. given below :

(A) 1 only

(Bj 2 only

(C) 2 and 3 only .

D) 1 and 4 only

(E)  Question not attempted

T W T YT RO T, S SRR S H
%7 Wi &1 THAH I |a B

1. fqafm

3. wfw
4.  pEEEEE

T AT ‘
A) w1

B) ¥ 2

(©) %aw 2 ¥ 3

(D) ¥aw 1 3 4

(B) oraRa 9w

/\ 77AGSP-2 o 10

28 -~ The orientation of long-axis of the cattle shed

29

should be

(A) North-South
(B) East-West

(C) North-East
(D) South-West

(E) Question not ‘attempted

| AR % et (S) B e g B T

iRl

(A)  sae-gfm

B) -

(€) wat-qd

(D) =for—afyem

(E) srara s

el [ % T g 1 o1 fremr S
TN 1 (=) = 1 ()

a qasi I ey g9
b. FFHMT I oredivE e
c. wmE Il &% 999
d. V. wgdift s
A fag e Foraelt & Y T e A

(A) a, bl c-IV, d-III

B) al, b-I; ¢-IV, d-TiI
(©) aIL b1V, c-L, d-TII
(D) &IV, b-IL, ¢, d-III

(B). orgai@ usA

.

30

31

Match List I with List II ,
List I1 (Botanical name)

List I (Crop)

a. Rice L= Triticum aestivum
b. Ground nut II | Gossypium hirsutum
c. Wheat Il Oryza sativa

d. - Cotton I Arachis hypogaea
T 1 % @ g 1 % Pra it

T 1 (=) {1l (@ =)

a. e  fefewm TR

b. e I W frege

c. W I o derga

Choose the correct answer from the options
given below :

(E) Question not

(B) MOP

(C) DAP
(D) SSP \

(B) orgaia wew

/\ 77AGSP-2
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32  Match List I with List 1L

List I (Temples of List.II (Built By

Rajasthan) Which Dynasty)
a. Achalgarh

b. Dilwara L. Guxjara - Pratihar
c. Eklingji
d. Mahavir Jain

Temple (Osian)

g 1% a1 R #ifi

T T (e ¥ 4R7) I (R T

-
:‘ﬂ» :
3

(enfram)

Choose the correct answer from the options

given below :

%&Qmﬁmﬁéaﬁmmmm

(A)  aIL b-IL, c-1, d-
B) &Il b1V, ¢, d
(C)‘ a-1V, b-I1I, c-I, d-I1
D) oL, b1V, oL, d-I1

(E) Question not attempted / STgART YA
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(D)

(A

(D)

Match List I with List II

List I (Dams) List I1 (River)

a. Bisalpur I.  Chambal
b. Arwar II. Kothari
¢. Jawahar Sagar III. Banas
d. Meja IV. Khari
@I_%w&@ﬂwﬁaﬂaﬁﬁw
@1 () o I (78)
‘a. d@EgT T
b. AR 1. el
c. WEET "X 0l ="

d. #m V. @

Choose the correct answer from the options

given below :

% R e Rrea § ¥ G T B T DI -
(A) &I b1V, oL, d-1I

(B) a-IL bV, oI, d-T -

(€) allL b, ¢V, d-I

| a-1V, b-1, ¢-11I, d-II

(E) Question not attempted / SIFART 7T

Feed cost accounts to % of the cost of

milk production. ‘
aﬁaﬁmiammés___%us‘cﬁ%l
40-50
16070

75-85

90-95

Question not attempted / ST T

(B)
(©).

(B)

/\ 77AGSP-2
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(B

In Rajasthah “The Center of Excellence of
Pomegranate’ is located at :

(A)
B)
©
D)
(E)
T ¥ feg w@F W
R ¥7 o
(A) ﬁfﬁ?f

B) &

(C) R (w=d)

(D) <=

(B) omand ued

Sirohi
Churu
| Dhindhol (Bassi)
Tonk
Question not attempted

‘ST BT IGHEA bR

Which disease is transmitted by ticks?
(A)
(B)
©
(D)

Ranikhet disease

Anthrax

Mastitis -

Babesiosis

‘Question not attempted
et 3 2 @ & < @ ST A §7
(A) e A |
(B) THEE

(C) wfefe™

(D) @R

(B) orgaia usd

37 Kesri Singh Barhath was born at which

38

/\ 77AGSP-2

place?

(A) Udaipur

Jodhpur

fymid

Shahpura

(B)
©)
(D) Bhilwara’ '
(E) Question not attempted

Hall Rz aEs & w7 B wWE W gen?
(A) sEaY
(B) gy
(€) smEga
| LIS

S 9s

D)
(B

Milking should be completed within
minutes. ‘

g den P & g @ o A
(A) 6-7
B) 9-10
© i2—14
(D) 15-16

(E) Question not attempted / SFFaRa ‘;ISH’

13

39

40

(D)

GV
B)

GET IT ON

Google Play

Silking is the reproductive stage that may
be observed in the following crops.

(A)
B)
©)
D)
(E)
¥ @ o wehar ¥ ‘

&)
(B)
©
)
®)

Cotton
Maize
Rice
Wheat

Question not attempted

HUE
b1

Trere

it
IR

Which of the following is NOT written by
Ambika Dutt Vyas? ‘

A)
(B)
©

Bihari Bihar
Pavan Pachasa
Lalita

Vijaypal Réso
(E)
Frafafea & @ @ afewra @@ g faied
aE ¥ 7 ' '
ferll — e

gg= — Tt

aferen

oo — T

SN 99T

Question not attempted

©
()
®)

,


https://applink.adda247.com/d/XhqWf9lSap
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Adda Eq 7 . | | | | GET IT ON

Google Play
41 Ferric chloride test is camed out for rapid | 43  The size of the clay part cle is 45 Match List I with List II 46  According to US Soil taxonomy system, soil
assessment to identify damage of : is classified into order.
legume seeds. (A) >2 mm List I (Element) List II (Symptoms) e (US) a1 o eraell Soe % STgE
o . i T ¥
B) Phys1019glcal V _ a. Zn : I. Pahala blight of o ‘
(C) Mechanical (C) 0.002 to 0.02 mm | (A) 8
(D) Biological s : .
(E) Question not attemipted (D) < 0.002 mm | | Sugarcane (B) 10
wehErR 9§ afer w1 @i smeed B Quest ot d b e L Hidden H € 12
: uestion not attemp . w1 I Hidden Hunger
S%WWW@WWW%I E) | | : (D) 14
(B) TR | feraett il % apuil b oTTeTd (@RST) @Tﬂ %' o c. Mn ' I Interveinal chlorosis | (E) Question not attempted / STk ues
C) witm A) > 2 By ‘ |
ED)) (4) d K IV. Khaira disease | S
(B) orafea ue (B) 02 %2 freh : ,' 47 Match List I with List II
: 7 v e [ % g gar 1 @ B sy ' List I (Vegetable List II (Varieties)
42 - Read the following statements regarding (©) 0.002 ¥ 0.02 Belt 4 ' crops)
camel managment. . T I (@) T I (wern) : , i
Statement I : Camel Milk has high (D) < 0.002 firkt | a Carrc‘n I.  Arka Anamika
vitamin C content and agg 1I.lfas _ E) ogaia e 0 7n Lo - b. Cauliflower II. Bhima purple
comparatively longer shelf-life . PHET . Ok L Pusa Asita
Statement IT : It is dlfﬁ”@ult to prepare curd )
from camel milk. 5 b. Fe L we=t gen d. Garlic IV. Pusa Meghna
Choose the most appropriate answer from | 44 Pusa Pragati is an important variety of ; . 1% o {1 ot FremT R
the options given below™: _ ; c. Mn L. stea frde sfaim T il
(A) Both Statement I and Statement II are (A) Garden pea ; : w1 (afemai vﬁ?ﬁt ) @ I (w=r)
correct. : i K Y '
(B) Both Statement I 4 (B) Mango | e a. M L ot ot
i t. / : Sk ' i
INCOITEE™ (©) Citrus Choose the correct answer from the options b IL - st o ()
Only Statement I . . A ; Ay -
(D) Bottle gourd given below : ’ ¢ r RUS SRR
. Sy, : ’ . - d. G|§§q IV ﬁ'EHT
- (E) Question not attempted 9 fr T ey F 4 @ ST BT TG BT : &
w1 : 2 ¥ qu ¥ o »q-ﬁﬁ ¥ R @ €|‘c’ﬂ ~ : Choose the correct answer from the op‘uons
LRI CRIC R A g Trarh oy et R U SR (A) oL bIL, o, &IV given below :
(A) EF "X ‘ e g e foseat & § T2 9T B TAT DI
(B) (B) a—III, b-IV, c-1, d-II | ( A) a—IH b- IV c-1, d-1I
HH
< L (C)  a-V, bl ¢, d-II (B) &L b-IL, c-IV, d-I
a 3w 3 - (© e [ g E (C)  a-l, b-IL, ¢-IIL, d-IV
e 1 SiT e i T D) d | L @ alV.bdlcldl (D) a1V, b-L, c-IT, d-1I
(C) %awm o= 1 @8 81 } , | e | !
Eg)) %ﬁﬁ:iﬂ;il w3 (B) ogaf@ ue (E) Question not attempted / Sl uew (E) Question not attempted / AT e

N w o & acsp ' 1 |

B R R
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48 Prefefad & & g Tt A wE B -

49

®

hd

eﬁwaaaﬁa%m%l
%ﬁﬁqwﬁmﬁ%aﬁmwm

(C) ¥ 2 & 4
(D) ®ag 5

d. s wS9 o @ ?r IV. sl
‘ﬁ%fi’qﬁt{fﬁmﬁ@mﬁwaﬁrwmz
(A) -1, c-II1, d-TV

(B) adl b-III, c-IV, d-I
©€) a

(D)

b-I; ¢-II, d-IV
a-1ll, b-1I, c-I, d-TV

STaiE weT

[\ 77AGSP-2 16

50

glven below ¢

Match List I with List IT-

List 11

a. Toxicity of Al & Fe - I.  Sodic Soil

b. Amendméiits with 1L Saline Soil
gypsum

c. ECe> 4 ds/m L. Acid Soil

IV. Calcareous

Seil

ML e ga
IV. fegrmea gar

ct answer from the options

T f%rq i ket & & TEN T BT T BT :
(A)
B)
©
D)
(E)

a-11l, c-I, d-1V

a-IlL, bk c-IL, d-IV
a-IV, b, c-II, d-IIT
a-II, b-TIL, c-TV, d-I

Question not attempted / STRIRT F¥T

|

51

52

@a & gera &1 et ord B W g7
GV
B)
©
)
E)

Skn‘tlng

Choose the correct answer from the options
glVen below s,

1 only

(A)
(B)
©
D)

3 only

4 only
2 and 3 only

Questiogp%not attempted

i % @ ¥

53

54

GET IT ON

Google Play

What is the minimum concentration of fruit
pulp/Juice in the ideal squash?

ot omast = tﬁ?ﬁ%?@/mﬁw
wigan feeer sl

(A) 10%
B) 15%
©) 25%
(D) 50%
(E)

Question nof

Match List I with:Li

List T (Vegetab’ List IT (Number of

crop) chremosomes)

a. Carrot ( I. 24

b. Tomato II. 14

c. Common oi%i n III. 18

d. Pea | IV. 16

T 1% w gl o P it

T 1 (R B ) I (o o )
©a. TR I 24

b. AR . 14

C. YR TS II. 18

d. =X Iv. 16

Choose the corfeet answer from the options
given below : °

A9 Ru o fepedi-A & 9E ST B AT BT
(A) al, bl ¢
(B) a-l, b-IIl
(C) aIL b-Tlye
(D) all, bl
(E) Question not attempted / STTARGT UL


https://applink.adda247.com/d/XhqWf9lSap
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55 qeli-ur @ TErE @ ol ¥ - 58 Match List T with List IT ’ 59 Mycorrhizza is the ;symbiotic association 61 ¢ e @ W o Fr F Y
(A) T B List T List T :i’éween root system ?f higher plants
- (B) gq W & ‘ : _ a. Footand 1 Extension of one leg , (A) Fungi
(C) g BT . ’ . B) B i
: : - mouth forward and the ' (B)  Bacteria
(D) 9 & o | ‘ (C) Nematodes
(E) m@?rﬁ'ﬂ 9 disease other backward (D) Virus
b. Mastitis II. Animal walks in circle (E) Questlon not. qttempted
56 isa bacterial disease. . ¢. Marek’s ITI. Blisters in the mouth e wE 1 T 62
(A) Hemorrhagic septicarmia ' ‘ . .
‘ - . disease ' : : (A) wa® List 1 List 11 ‘
B) Mﬂk fever ‘ | . , ®B) a. Cooling of . 135-150°C for
(C) Ranikhet disease ~d. Ketosis  IV. Hot, Swollen, © . milk 1-4 seconds
(D) Foot and mouth disease : , ' ' painful udder o) b. LTLT "I 72°C for
(E) Question not attempted » Pasteurization,. 15 seconds
, _ - .gﬁrl%m&aﬁllw&rﬂﬁﬁﬁq (B) organ@ 9s ‘ .
| e | ‘ I i : asteurizatio
(A Wﬂr&ﬁﬁ SR v ( -{fh @ ’ » 60 Match List I with I d. VHT 63°C fOI‘
(B) e WaR (8 w) , a. U ﬁvw L % e feramt List I (Freedom figh ers) List I (Places) Pasteurizatio 30 minutes
(©) T e i’gﬁ S : 2. Kuman Kusu upta L Jodi%pur ﬁiﬁ 1% @ @ H W Ry if
(D) Pz U= wiwd O (TEr ) : Laxmi Devi Aaac arya II. Udaipur 1 I
: b. wfefeg A I WHER WA SR . Bh Devi’ . :
) N \ & Z agwati Devi- III. Bikaner o qu e del B 135-150°C,
o | | S . Savitri Devi B}%Qtl IV. Kota 14 s ¥ R
» ' . ‘ ' . T 1% wre g2 1 &1 few afg : o
57 @& 1% @y g 11 & Braw S c. ¥ w AT I T@ X BW . o I G b. wadrwa & 72°C, 15 e
II ' CIESKET % fog
‘@ I (=) T 11 () | 4 EoRmE IV. T, g, 58 B3 o L W Ko 4-5°C
a. WE-®IM L sredvg ave ‘ _ - c. TaATH . 4=
] Choose the correct answer from the options ‘ 3 EIEEEGT A
b. e I Ry 9 N | = .
‘ given below : ) d @i IV. 63°C, 30 e
c. RIE m. == BEIN £ 8 IV. @it - % %FI
: fiq g Reepedl @(aﬁwmwaﬂm | ] BT
Ch th
d. T=gE Iv. f&g a9 : e .} '<T (Tophe opfions Choose the corre swer from the options
iy g g fereedt H § g& O % g BT (A) a-L b-lIL c-1I, d-IV R =i given below : "
' ' Y iaEBGCiI WWW%”%W, .
(A)  a-l, bl c-IV, d-III (B) a-IL b-1V, c-I, d-II ) T2 g o Rrwedt § R w8 SO @ 99 BT
00, b-1V, eI, d-II A) all, b-IV, , d-1
(B) &L © (C)  adl, b, c-IV, d-III | (B) ) ‘ ;
(C) oIl b-L, -1V, d-II v © (B) a-L b-Il, c-Iv; d-1II
D) L, bl IV, d-1I ’ (D) alV, b-II, c-IL, d-I ' D) alV. b oL, 4 (C)  a-IV, b-IIL, c-1, d-II
| _ - | » Ol c-dl, d-1 | (D) al, b-IIL, c-I, d-IV :
(B) orafta us , . - (B) Question not attempted / SFFAI T " (E esti T
o » . E) Question not attempted / SR 77 ~ (E) Question not attempted / aﬁﬁf © EES
/\ 77AGSP-2 18 | /\ 77AGSP2 19 | ‘
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Bizamrit Consists of

1. Cowdung

2. Urine

3., Lime

4. Virgin Soil

Choose the most appropriate answer from |
~the options given below: '

(A) 1 and 2 only
(B) 1,2 and 3 only
(C) 1 only

D) 1,2,3 and 4

(E) Question not attempted

q e B

demgE_

4. g gal

%ﬁqwﬁaﬁq‘rﬁ%m@fwwm
TIT DI

(A) %aw 1 T 2

(B) Faw 1,263

(C) &= 1

D) 1,2, 39 4

B) orgafa s

64

65

Which of the following places in Rajasthan
presents the oldest evidence of animal

~ husbandry?

(A) Bagor

(B) Kalibanga
(C) Jaipur

)
(E) Question not‘dttempted .

Freafafaa & & @ wowam o™ o qy-aed
1 T9Y YN YHIOT YR Bl § 7

AR

Alwar

(A) SR
(B) e
(C) =mge
(D) em@FaT ,
(B) orgaia usA
Match List I with List II
List 1 - sList TI
a. Beetal , 1. Buffalo
b. Nagauri II. Sheep
¢. Nilj-ravi | 1. Cow
d. - Merino IV. Goat
Tl 1 & @y g 1 @1 fram s
LD S o= I
a. A 1. ¥4
b. =« II. 9
c. A TR HI. g
d a0 V. s

Choose the correct answer from the options
given below :

e faw o fseedt & @ 98 SR A TG BT
(A) adL, b-L, ¢-IL, d-IV
B) a-, bIV, c-IL, d-III
(C)  a-IV, b-11I, c-L, d-IT
(D) a-Il, b-1V, c-1, d-1
(E) Question not attempted./ sgaftd U

66

67

(C) Amla

% T % g g ¥

Which of the following crops, requires
permission from narcotics department for its
cultivation in Rajasthan?

(A)

(B) Papaver somniferum

Eugenia aromaticum

(C) Piper nigrum
D)
(E) Question mot attempted

T F, B ¥ @ B @ waw s $ fig
rehiied fdrT & oAkt o9 @ arasgwal
e ¥ P

(A) ol qidfe

(B) ¥t GHE

(©) YT I

(D) g arm

(E)  eala usA

Curcuma longa

Which of the following fruit crop is
susceptible for growing under saline and
sodic soil?

(A) Ber
(B) Bael
(D) Mango

(E) Question not attempted

fr o 9 e wa @ waw el qar 9 g

(A) R
B)
(C) sifaen
D) o

E) | KGR

/\ 77AGSP-2 , , 21

68

| 69

GET IT ON

Google Play

Who among the following is Sahitya
Akademy Yuva Puraskar Winner — 2023 in
Rajasthani language?

(A) Kiran Gaurav

(B) Niranjan Hansda

(C) Chander Bhan Khayal

(D) Devilal Mahiya
(E) - Question not attempted
Frefatea & @ feaw, Towarl Ao A, G

| arrEt gar e — 2023 wrat fe?

(A) Bt M
(B) friwH aar
(C) ==wH I
(D) Idremre wfEan
(B) orafa uea

Match List I with List II
List T (Crop) List I (Root stock)

a. Mango 1. Ziziphus
nummularia

b. Grapes II.  Rough lemon
c. Sweet Orange III. 110 R
d. Ber IV. Olour

’ @I%m&@llwmﬁﬁm
T I ( T 1T (we
a o™ L ﬁT&ftﬁH =g
b. ST L & fig
¢ #rer §aa m. 110R
d = IV. &mr

Choose the correct answer from the options
given below : :

T R o el F @ I8 99T @1 T9 B
A) a-l, b-1l, c-III, d-IV

(B) a1V, b-IIL, I, d-1

(©) al, b, c-IV, d-III

D) al, b, eI, d-IV

(E) Question not attempted / ARG U

,


https://applink.adda247.com/d/XhqWf9lSap
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70 The Cole crops include ‘ 71  Match List T with §

¢ 11 - 72 Which City of Rajasthan is called the | 74 TS AR F TET B
, "~ ‘Menhdi Nagri’? ‘ -
1. Cauliflower List I ist 11 : A J a{‘salmer (A) q&E AW H g2 T
) Cabb ' " (B) Jaipur ‘ _ : .
' oPaEe a. Dipping’ Disinfectants. (€)  Sojat (B) ¥ onuch Wiy ger T ¥
3.  Tomato ’ | (D)  Amber : :
" b. Drenching Vaceines (E) Question not attempted (C) 0 wew A9 9T @ A
4.  Brinjal TSTRAT T I |1 98T Hed) Ty’ mm%? : ﬁ‘ o
‘ ) . SqeEdr 4 - D) v ¥ "= o i
" Choose the most opriate from the c. Spraying . Internal parasites Eg)) ' . , ®) o
tions given below ' o ST B N
options & d. Injection . External parasites . (©) <= (E)
(A) 1 only | (D) @
(E) S gaia wed '
(B). 1 and 2 only 75wl S ‘
(C) 3 and 4 only 73 Arrange the growth stages of maize crop. ' S
1.  Planting ‘ST BT HTE HIH EAT
(D) 4 only 2. Silking ’ :
E Yuesti ot attsfinted 3.  Tasseling (A) @ BT Ul TG
n n
(E)  Ques 101 P 4.  Physiological Maturity B -
ahafwa ¥ ; Choose the correct answer from the options (B) &= Ay
; ; iven below :
c. W (eewrg) . erafie gwsiE g ; (©) =t Refi @1 T
: (A) 1,2,3,4 | RAAL
d. srH IV, e oty ® 3.1,2,4° D) e T
~ C 1,3, 2,4
Choose the correctianswer from the options O 2,1,3,4 _ (E) aﬂﬂf’{a 9T
below : y (E) Question not attempted
iven
g e 1 e 3 O o A sl B
( el HH W gaRud @i
%ﬁqwﬁmﬁﬁﬂwmww fg ™ ’ 1. quor 76 ‘SR T ST T E T —
i (A) aIl, b1V, ¢l d- 2. e |
| | 3 e . 4)
(A) Faw 1 ~ : : ' ,
’ | (B) a-l, b, c-IVed-III | . 4. wiRfraes afvaeear ®) sa
(B) %ew 1 8 2 A “ L ﬁﬁmﬁmﬁﬁﬁwwwﬁm
(C) a-II, b-I, c-IEd-IV ‘ ; A 1,2,3,4 ©) P & dem
- (©) a3 et 4 ,. (B) 3,1,2,4 B
, (D) alIV, b-IIL, L, d-I1 . (©) 1,3,2,4 (D) T
(D) e 4 : D) 2,1,3,4 ,
(B) organa ue ' (E) Question not attempted / aia usd (B) oraia usA (B) oot usd

/\ 77AGSP-2 o 22 | | /\ 77AGSP-2 | 23 -
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Who is known as the ‘Tiger Man of India’?
(A)
®)
©
®
®)
o+ %5 2T A %5 & e e 7
(A) g i

(B) oy @t &

Gokul Bhai Bhatt

Kailash Safkhala
Janki Lal

Question not attempted

(C) HereT gl
(D) I A
(B) omana us

that can be categorized

Xerophyte:

Halophyte

t attempted
Far ¥ o e

Question

®)
e (AT
W b §
(A) g
B) @R
©) weahig
(D) TR
(B) orafa wgt

/\ 77AGSP-2

: Choose the corre

79 Match List I with List II

List  (River) s List 11 (Another

‘name of the river)

Salt water River

b. Chambal Rivef ‘II. Ganga of Wagad

c. Mahi River ©"III. Kamdhenu River

d. Luni River V. Dead River

a. "R E Waaaé’r
b. d¥e T I ams &
. Wi LI wmag A

d. o =& V. ga &

swer from the options
given below :

TE T B T BT :

(A) a-lIL b-IV, c-I, d-II

d-I

(B) a-IV, b-II,

(©) alIV, b, c-Hd-II

(D) a-IV, b-I, c-Ul, d-1I

Question not attempted / START 9§

(E)

80 In cattle, out of the total dry matter (feed)
requirement of the animal, should
be met by Roughages (fodder) and the rest

by concentrates. ’
TR ¥ R ¥ 3w o W A,
ol g R T (AT S S 9 g
| @ gt @ik o § e R
(A) 1/4;3/4 § ‘
®) 2/3; 173
(C) 3/4; 1/4
O) 1/3;2/3
"(E) Question
81 State Governmeht of Rajasthan has signed
- an agreement with which country to promote
“Tourism™? '
(A) Singapore
(B) Switzerlan
(C) Japan
(D) U.S.A.
(E) Question a@t attempted
TSR G A 9T % WY G B gt
/\ 77AGSP-2
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83

GET IT ON

Google Play

Which of the following area produces
coriander at large seale?

(A) Kota
®)
©)
)

()

Bikaner

Jodhpur

Jaipur

Y TUEH HLET & 7

(A) B

(B) EICTEES

(C) siEgR
(D) g

g o 2020-21
firelr o

(A) 111
B)
©

®)

222
333
444

(E) Question not attempted / &g YeH
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84 Thompson seedless is one of the imporfant

85

o dred’ P ¥ ¥ feaem @

(A) SR

(B) o 9ot

variety of :
(A) Grape
(B) Guava
()] Apple’

Banana -

®)

(E) Question not attempted

TR ¥? :

(B) omEw
(9] |

(D) e

R 9= T q foreirr ot i W R 7
(A FE=

B) g

©) wém

©) e

(B) orgafa usa '

[\ 77AGSP-2 - .26

86  Arrange the different classes of seedé from

its initial development to distribution stages.
1. Nucleus seed

2.  Breeder seed

3. Foundétion sgaéél

4., Certified seed

91 & = ool @) o9 ahye e 9
ot oY araael a@ A ¥ RE |

1. méﬁﬁr

2. Yo 99
3. U €W

4. yaim €

Choose the correct answer from the options

given below :

A e e Reedt § § w8 waT B T AR

A) 1,2,3,4

B) 43,21
© 1,3,2,4

@ 2,1,3,4

" (E) Question not attempted / eraia 999

|

87

88

/\ 77AGSP-2

Paraquat can be categorized into
herbicide. ’

(A) Replacement

(B) Selective
Whole body

©
)

"~ Which of the fellowing is an example of

Weedicides.
1.  Glyphosa
2. Monocrotophos

3. Allethrin =

4.  Ziram _
Choose the mGSt appropriate answer from

(A) 1 only
(B) 1 and 3
(C©) 1,2 and
(D) None of these
(E) Question not attempted

e & ¥ oTagumETe @1 IaERw B w7

TG BINY
(A) ¥ 1
B)
(C) Haw 1,2
(D) T
(B) ogafa W

27

1 89

90

GET IT ON

Google Play

Which of the following texts is NOT
composed by Maharana Kumbha?

(A) Sudha Praba;ndh
(B)
©)
D) Sangeet “Saar

(E) Questionr-not attempted

ﬁmﬁf@aﬁ%ﬁwﬁrmwgmm
o w8 &7

following crops, has the
requirement?

Rice
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91

92

93

- (B) B

"~ (D) Sagarmal Gopa

For which of the following crops, is the
yellow vein mosaic disease, devastating?

(A) Onion

(B) Okra

(C) Tomato

(D) Brinjal ‘

(E) Question not attempted

e & @ forw waw & fog, S B | 3,
guferan formyrerd B ¥ 7

(A) =S ’

(C) &\rRY
D) Fw ,
(B) orana ued

When did the battle of Udaipur take place?
TEAYL B W (IS) FA P

(A) 1670 '

(B) 1580

(C) 1680

(D) 1760

(E) Question not attempted / ARG 95T

Who is the author of the book *Jaisalmer Ka
Gundaraj’.

(A) Surjamal Miser

(B) Vijaydan Detha

(C) Gajanan verma

(E) Question not attempted

T B GO [RGB BN AGH BT B
(A) geoE

B) Rraar e

(©) I, awt

(D) @rTEe T

(B) oo 9

/\ 77AGSP-2 28

94 Which element(s) are highly mobile in

plants.

1. N
2.

3. Ca
4. K

Choose the most appropriate answer from

the options given below :
(A) land?2 oniy

(B) 1,2 and 3 only
(C) 2 and 3 only |
(D) 1,2 and 4 only

(E) Question not attemptéd

drelt % @ A e e O ¥ 2
. N | ”
2. P
3. Ca
4 K

%mm'wﬁ%mmﬁ?m‘
=g AR

(A) Faw 13X 2

. B) Faw 1,23

(C) e 2 ¥ 3
(D) ¥aw 1, 2 &K 4
(E) ogafa ves

95 From the féllowing who is associated with

Jaipur Gharana of Music? ’
(A) Bhimsen Joshi

(B) Jasraj

(C) Girja Devi

(D) Malikarjun Mansur

(E) Question not attempted

frffes & ¥ @1 G % ST T &
wted § 7

(A) e sigh

B) wEUS

(C). firesm &

(D) =ivwwTeT wEGLT

(E) orgaRa sr%r

96 g 1% @ g I 1 e iR

T 1 T 11
‘a. WA L e

b, I e

c. g NI

d. $EFER IV. oast
%ﬁﬁmﬁmﬁﬁ%ﬁw'wwaﬁﬁq:
(A) a-l, b-m, c-IV, d-I |

(B) all, b-l, c1V, d-I11

(©) aL bV, I, d-III

(D) a-IV, b-I, c-II, d-IT

(B) erana wea
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97

GET IT ON

Google Play

Arrange the stages of Rice crop in correct
order.

1.  Tillering |

2. Panicle initiation
3. Traﬁsplanting

4. = Seeding

Choose the correct answer from the options
given below :

(A 4,1,2,3
B 2,3,4,1
© 2,4,3,1
D) 4,3,1,2
B | Question not attempted

g B HEA DI AT B gEl e A
RYT WY g

1. @@ smEa
2. g9 IUEH
3. TR

4. dwF

ﬁ%mw%mﬁﬁ%éﬁwwwaﬁﬁq:
A 41,23
®) 23,41
© 2,4,3,1

@) 4.3,1,2

(B) orgala usA
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98 Match List I with List 1 ' 99 ~ When was the First Forest Policy announced

List I (Fort) List I (Built by)
T B TUH

v SR w Aron B g5 7
a. Fort of Jalore. L Jaisal Bhati : \

(A) 2008
b. Fort of S0j II. Vira Narayana
(B) 2010
c. Siwana Durg> . [ Nimba © 2012
d. Fort of Sonar IV. Naga Bhatta | (D) 2014
g 1 % we gl frer HY (E) Question

e 11 (Rre )

1060 In which garden.

of Jodhpur, the ‘Hall of
Heroes’, situated? '

(A) Ramniwas-garden

M. e ‘ B)

IV, AT wE ©)

Choose the corrédt answer from the options (D) Niwas garden

given below @ * _ (E) ot attempted

(A) a-IIL, b,
(B) a-IV, b-lI

(C) a1V, b-IL, cIIL, d-1

Fteay

(D) a1V, b-MLe-L, d-1 (D) Prama ww

attempted / STFARE 997 - (B) sgud
30

(E) Question
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